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7 100kN/mM%#BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m%#8% % - -~ -|3mEBZD ~ -
s 1.00 | 000 ~ 713 90.63 | =nS | 000 ~ 713\ 1.79 9.66 st 1.00 | 5.00 ~ 9.00 90.63 | Th4 | 5.00 ~ 9.00| 1.79 9.66
2 100kN/mM##BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEBZD ~
s 1.00 | 0.00 ~ 7.01 88.86 | =nLst | .00 ~ 000 1.69 9.06 st 1.00 | .00 ~ 883 88.86 | =hst | 5,00 ~ 883 | 1.69 9.06
3 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.43 80.88 | =St | 0.00 ~ 6.43| 2.08 11.11 st 1.00 | 6.00 ~ 9.35 80.88 | =hdst | 5.00 ~ 935 | 2.08 11.11
4 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 000 ~ 698 8846 | =nst | 000 ~ 698 | 1.91 10.23 st 1.00 | 6.00 ~ 9.14 88.46 | =hS | 5,00 ~ 9.14 | 1.91 10.23
5 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 665 83.93 | =hLs | 000 ~ 6.65)| 1.99 10.63 st 1.00 | .00 ~ 899 83.93 | =h4 | 5,00 ~ 899 | 1.99 10.63
P 100kN/mM%BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.13 63.91 | FnLSY | 000 ~ 513|221 11.83 st 1.00 | 6.00 ~ 8.00 63.91 | =4t | 5.00 ~ 800|221 11.83
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ ZFhLst ~ Fhst ~ zhLst ~
P 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
zhst ~ Fhest ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhst ~
100kN/mM%#BZ % ~ ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhLst ~ Fhst ~ FhLst ~ zhLst ~




